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I ’»mwn: comparing nomw with nr5yn
a relative stringencies of each of nv'nw and NXYYn
i pvnw if one slaughters yina wwTp for non-cultic use (or even for 1”y) — liable; exempt for NR>»n
1 Source: in re: NRYYN, it states 'n% (v. 1)
(a) Counter: it states 'n%
(b) Defense: in re: nonv, it states WX WX (v. 2 - expanding to non-cultic use)
(i) Challenge: in re: nR5yn, also states WX WX (v. 7)
(ii) defense: that is used to teach that if 2 offer it up they are liable (v'8+w>R)
1. counter: if so, perhaps if 2 slaughter they should be liable?
2. Defense: it states Rinn wRN — only one
a.  Counter: it states Rinn in re: NRYYN — two should be exempt
b. Answser: that is used to exempt someone who is mistaken or confused
i.  Challenge: if so, it's needed for that in re: nv'nY
ii. Answer: it states ®1nn twice in re: no'NW — once for “mistaken”, once to exempt 2
iii. Question: if so, why the need for 'n% (v. 1)?
iv. Answer: to exclude nnbYwnn 9»w from the rule of yyn »onw
ii /85yt if 2 people bring up a limb to altar pina —liable; if 2 perform nv'nw together — exempt
1 xp792 9™ - R VR extends NRYYN to two who work together
(a) In spite of:1v"p from nYNW — where 2N VITRY VMY — that should exempt two who offer together
(b) Dissent (»p12 77): R0 limits to one — WX WX is just DTR 211 NYH
(i) w7z rnnisneeded to exclude mistaken etc. as per above
(if) ’or "1 infers that from RN, instead of X1n (W™ regards the difference as insignificant)
(c) Challenge: what is oV "1's source for vV1’10% VMY, if he regards v& WX as normal rhetoric?
(i) Answer:v.3-..2vm D7
b Multiple mxaspir.
i w77 if he brought up several limbs (TnX nYyna) — liable for each
ii ~ »p» /1 only liable once
1 Definition of dispute (57771°"):
(a) 5”1 dispute only when he brings several limbs; but one limb cut into pieces- all agree to 1 avn
(i) Reason: they interpret ymx mwy? either about the animal or the limb
(b) 7. dispute only when he cuts the limb up and brings the pieces in separate mxrYyn — but all agree that
multiple limbs = multiple n>arn
(i) Reason: dispute whether ©»19 >01nV - that were missing a piece - offered outside are 27n or 7108
(c) Note: this is at odds with K91’s interpretation that their dispute was only re: yin »01nw offered that be-
came deficient and were offered outside; but all agree that if they were 0295 »01nw — liable even if Yon
(i) Note: this version of % is at odds with 1w Rar, who noted that returning “pop-offs” onto the
nam is contra *o01 "
(ii) Alternate version of 851Y's interpretation: dispute is re: D19 »01nW that became Jon and were offered
outside — but all agree that yin 01w that became 7on and were offered outside — 109
¢ Locus of liability:
i oy ‘7 only atop a nam — per v. 4- he interpets v. 5 as nyw nxMN
ii ~ ®”revenarock — per v. 5- he interprets v. 4 as just meaning a high place
1 Or:heinfers it from v. 6 — there is no rule of nam outside of YN YnR (2 no need when N1 I’n and > 27n)
(a) Question: is there a requirement of y1277 ;107 ,w15 and 17p at Nna?
(b) Answer: only n>y13 nna (e.g. NP1 ,a1) but not niop Nna
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